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Time: 10:30am to 1:00pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)
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Give difference between flexible pavement & rigid pavement.
o1l $UGY| Wl 43 UL AR dAsleld AHHA.

Explain how climatic variation affects pavement design and performance.
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Write short note on equivalent single wheel load (ESWL).

gsclldctoe oA Sl AlS (ESWL) GlUR 25 olltl Cul.

Discuss the effects of repeated applications of loads on pavements.
gUNUU BUR ekl Yotlal(dd Aa cousaell adl wuRlell uAl
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OR
Explain group index method of pavement design. What are the limitations of
this method?

gu0ltlloll Boigat U2ell yu-63et ueld Al 2 Uedell
HaleRAl 58-58 & ?

Explain warping stress & frictional stress.
HAS YlQotn wal el yldoa (A unestal.

Find the spacing between contraction joints for a 3.5m slab width having a
thickness of 20cm for plain concrete slab. The maximum tensile stress values
in concrete 0.8 kg/cm?, coefficient of friction is 1.5.Take unit weight of
cement concrete, W=2400kg/m".
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OR
Write short note on burmister’s method.

oltfe? utuld GUR &5 olltl Gl
Explain briefly McLeod method.
Asc{lalls utdfd gsHl At

Explain the design considerations for spacing for expansion joints.
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Briefly outline the IRC recommendations for determining the thickness of
cement concrete pavement.

R sl8leall guoitlloll otste ucal Hizell 1.R.C. ofl acelsdl

SSHL 2URML AHyLall.

OR
Write short note on C.B.R test.

CBR Utd(d GUR 25 ol U,

Calculate the stresses at interior regions of a cement concrete pavement using
Westerguard’s stress equations. Use the following data:

Wheel load, P = 5100 Kg.

Modulus of elasticity of cement concrete, E = 3.0%10° Kg/cm?
Pavement thickness, h=18 cm

Poisson’s ratio of concrete, p = 0.15

Modulus of sub grade reaction, K = 6.0kg/cm®

Radius of contact area, a = 15cm
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Explain the California resistance value method of flexible pavement design.

o1 UG BieSal 12 dcllslelaun 2R AcR] uruld UHestAl.

Briefly explain the flexible pavement design method using triaxial test results.

Blaellal 222 uReIHeA Gualal 531 o1t su0itle(l (3aeet utuld
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OR
Explain the function of dowel bars in rigid pavement.

a3 sUGlUHL Slad Ulale] st uxesAl.

Explain the effect due to the expansion and contraction of cement concrete
slab.
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